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PHILOSOPHY — HONOURS
Third Paper
Full Marks : 100

Candidates are required to give their answers in their own words
as far as practicable.
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[English Version]

The figures in the margin indicate full marks.

Question no. 1 is compulsory and answer any five more questions
taking at least one from each Unit.

1. Answer in brief any four questions : 5%x4

(a)
(b)
(c)
(d)
(e)

(H
(2
(h)

What are the characteristics of knowledge according to Plato?

Explain, in brief, the types of causes admitted by Aristotle with examples.

Explain after Descartes, the distinction between clearness and distinctness of perception.
What are the three levels of knowledge admitted by Spinoza? Discuss.

How many types of complex ideas are accepted by Locke? What are these? Give examples of each
type.
Is Berkeley a solipsist? Discuss in brief.

Distinguish between antecedent and consequent scepticism after Hume.

What according to Kant are the marks of a priori knowledge? Explain.

Unit -1

2. Explain Plato’s theory of Ideas. 16

3. Discuss in detail Aristotle’s objections against Plato’s theory of ideas. 16



10.

11.
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Unit - 2

. How does Descartes arrive at the principle ‘I think, therefore I am’? Is it an inferential truth? Discuss.

10+6

. “Whoever is, is in God and nothing can exist or be conceived without God.”— How does Spinoza explain

the relation between God and the world by this statement?’ Discuss. 16

. Explain Leibnitz’s doctrine of ‘Pre-established Harmony’. Discuss how far Leibnitz succeeds in maintaining

an intelligible relation between God and monad and between the monads themselves. 8+8
Unit -3

. What are innate ideas? How does Locke refute the doctrine of innate idea as presented by Descartes?

Discuss. 4+12

. Explain the theory of abstract ideas. How does Berkeley criticize this theory? Is Berkeley a nominalist?

4+10+2

. Distinguish between impressions and ideas after Hume. Explain and examine Hume’s arguments

in favour of the thesis ‘ideas are copies of impressions’. 4+8+4
Unit - 4

How does Kant distinguish between analytic and synthetic judgements? Discuss, following Kant, how
synthetic a priori judgements are possible. 6+10

Explain Kant’s view of space and time. How does Kant show that space and time are a priori forms
of intuition? Explain. 10+6



